

Dělení s ocáskem

$$\begin{array}{r} 2 \overline{) 252} \\ \underline{05} \\ 12 \\ \underline{0} \end{array} : 2 = 126$$

$$\begin{array}{r} \text{ZK: } 126 \\ \cdot 2 \\ \hline 252 \end{array}$$

$$\begin{array}{r} 496 : 2 = 248 \\ \hline 09 \\ 16 \\ 0 \end{array}$$

$$\begin{array}{r} \text{zk: } 248 \\ \cdot 2 \\ \hline 496 \end{array}$$

$$\begin{array}{r} 355 : 5 = 71 \\ \underline{05} \\ 05 \\ \underline{0} \end{array}$$

$$3 < 5$$

⇒ ZATRHNU 35

Zbytek musí být menší než
dělitel (5)

$$3 < 4 \Rightarrow \underline{32}$$

$$\begin{array}{r} 729 : 3 = 243 \\ \underline{12} \\ 09 \end{array}$$

$$\begin{array}{r} 328 : 4 = 82 \\ \underline{08} \\ 0 \end{array}$$

⇓
výsledek

⇓
zbytek

$$8:6 = 1(2)$$

$$22:6 = 3(4)$$

$$42:6 = 7(0)$$

$$\begin{array}{r} 6 \overline{) 125} : 5 = 125 \\ 12 \\ \underline{25} \\ 0 \end{array}$$

$$\begin{array}{r} 822 : 6 = 137 \\ \underline{22} \\ 42 \\ \underline{0} \end{array}$$